
Time: 10 Minutes Paper Science 8 Total Marks: 10

4 Month, 4th Week, 5th Day Syllabus: Unit # 8, Exercise.

Q.No.1 Encircle the correct answer from the following choices.            (0.5×6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The student pushes against a tree with a force of 10 newtons (N). The tree does

not move. What is the amount of force exerted by the tree on the student?

ZZZZqqqq----::::eeee....$$$$ŠŠŠŠkkkkEEEEHHHHÅÅÅÅ¯̄̄̄ggggkkkkÆÆÆÆ‚‚‚‚BBBB####³³³³‚‚‚‚~~~~ZZZZqqqq----ŠŠŠŠgggg||||####ÃÃÃÃŠŠŠŠjjjjììììXXXXŠŠŠŠgggg||||####wwww••••7777™™™™@@@@****XXXX::::eeee....$$$$6666,,,,
ŠŠŠŠgggg||||####XXXX¯̄̄̄ggggkkkkÎÎÎÎ@@@@****ìììì????

(a) 0 (b) 5 N (c) 10 N (d) 20 N

ii. What causes objects to move? ZZZZ����xxxxÆÆÆÆwwww••••™™™™ääääÅÅÅÅzzzzzzzzHHHHìììì????
(a) Velocity zÑ; (b) Unbalanced forces )áZiȳgw
(c) Balanced forces áZiȳgw (d) Friction �Û̈
iii. The SI unit of pressure is: ----....$$$$ìììì:::: (SI) 6666,,,,bbbb»»»»ZZZZööööWWWWðððð
(a) Watt zZ^ (b) Joule �w (c) Pascal 0*ñ (d) Newton EH
iv. A force of 1800 N is acting on the surface area of 0.06 m2. The pressure
exerted by the force will be:

EEEEHHHHÅÅÅÅ̄̄̄̄ggggkkkkµµµµgggg„„„„ƒƒƒƒÂÂÂÂ¯̄̄̄ggggkkkkÐÐÐÐ••••zzzzZZZZÑÑÑÑ6666,,,,bbbbƒƒƒƒÇÇÇÇ:::: 1800 ÆÆÆÆZZZZkkkk,,,,cccc****ÅÅÅÅRRRR6666,,,,  0.06 m2

(a) 3 kPa (b) 30 kPa (c) 300 kPa (d) 3000 kPa

v. When same amount of force is applied in different areas, it exerts:

ZZZZ####ZZZZ»»»»VVVV6666,,,,ZZZZqqqq----„„„„llllZZZZgggg~~~~̄¯̄̄ggggkkkkÎÎÎÎððððYYYYññññÂÂÂÂeeeeZZZZrrrrìììì::::
(a) low pressure on small area

gLZk,c*6,Á6,b
(b) no pressure on small area

gLZk,c*6,Ãð6,b7
(c) high pressure on small area

gLZk,c*6,ic*Š{6,b
(d) high pressure on large area

ic*Š{Zk,c*6,ic*Š{6,b
vi. The pressure at the bottom of the tank containing a liquid does not

depend on: ââââùùùùÐÐÐÐ½½½½}}}}ÛÛÛÛÆÆÆÆnnnn6666,,,,bbbb»»»»ZZZZ®®®®gggg7777ƒƒƒƒ@@@@****????
(a) Area of the bottom suface ¬RÆZk,c*6, (b) Height of the liquid column âùÆ»ÝÅZz™ð6,
(c) Nature of the liquid âùÅ‚|#6, (d) Acceleration due to gravity ¤/-¨ÅzzÐZ&½hÎæ Gc
Q.No.2. Write short answers.                (2×2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) How can a normal force be balanced? **gï̄gkÃáZiyùHYYì?
(ii) Can a balanced force produce change in motion? HáZiȳgkw•~p~aZ™$Ëì?
Q.No.3. Write long answer.                                (3) ----����ZZZZ[[[[KKKKXXXX
Does the size of an object affect its ability to float/sink. Explain.

HHHHËËËËŸŸŸŸ»»»»‚‚‚‚^̂̂̂,,,,ZZZZkkkkÆÆÆÆeeeezzzz¶¶¶¶cccc****¾¾¾¾ääääÅÅÅÅ&&&&¢¢¢¢AAAAÃÃÃÃOOOOWWWW,,,,™™™™@@@@****ììììXXXXzzzzŸŸŸŸssss####™™™™,,,,XXXX
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